Norapudmmaeckne
ypaBHEHUA

3agaHusa onsa YCTHOro cyeTa.



‘ Hanaure kopHU ypaBHEHUSA:

log, x =log, 45

[TpaBUNbHbLIN  OTBET: 45




‘ Hanaure kopHU ypaBHEHUSA:

log, x=3

[lpaBunNbHbIN  OTBET: 27




‘ Hanaure kopHU ypaBHEHUSA:

log, x=-2

[TpaBUNbHbLIN  OTBET: —




‘ Hanaure kopHU ypaBHEHUSA:

log,; x=3

[lpaBUnbHbLIN  OTBET: O, 125




‘ Hanaure kopHU ypaBHEHUSA:

log, x=-2

[TpaBUNbHbLIN  OTBET: 1 6




‘ Hanaure kopHU ypaBHEHUSA:

log  x=4

[lpaBunNbHbIN  OTBET: 4




‘ Hanaure kopHU ypaBHEHUSA:

log, x +log, 2 =1log, 8

[lpaBUnbHbLIN  OTBET: 4




‘ Hanaure kopHU ypaBHEHUSA:

log, x—log.3 =log. 6

[TpaBUNbHbLIN  OTBET: 18




‘ Hanaure kopHU ypaBHEHUSA:

log, x+log, 5=0

[lpaBUnbHLIN  OTBET: —




‘ Hanaure kopHU ypaBHEHUSA:

3log3x _ 1 1

[TpaBUNbHbLIN  OTBET: 11




‘ Hanaure kopHU ypaBHEHUSA:

410827 =25

[TpaBUNbHbLIN  OTBET: 5




‘ Hanaure kopHU ypaBHEHUSA:

log 36=2

[TpaBUNbHbLIN  OTBET: 6




‘ Hanaure kopHU ypaBHEHUSA:

|
log 8 =—
g, 5

[TpaBUNbHbLIN  OTBET: 64




‘ Hanaure kopHU ypaBHEHUSA:

log 25=-1

[TpaBUNbHbLIN  OTBET: —




‘ Hanaure kopHU ypaBHEHUSA:

log,,(x—3)=-1

[lpaBUnbHLIN  OTBET: 8




Y CTHBI CUET 3aKOHYEH

« [lpurotoBbTre paboumne
TeTpaaun n oTKpouTe
y4eOHUK




